u
QR
S¥ 0
= 20 n B8
_ F=— 37.75" MAX. FRAME WIDTH ——= 2l et 2y G
| 2 gty 4*
PRODUTCTS, C. G :g z8g %g
1 3 A 459
=i
8811 West Market Street | 8.5 Ef
O
Colfax, N.C. 27235 & o g &
£ £ag Of
E i 3 p 'E ol
° 5Qr 5 =
a ooo 06
Glazed Fiberglass Door P S
2 SO
8
"NON-IMPACT"
o ”
INSWING / OUTSWING 2. .2 ZE
< ¢ =z
o2 2= i X 25
“c 25 = St
ol & O ..
5 d¢g S N
SE =Y S [
— [ N
© =z 2 &
- - el LR
3 S| &G
3 g ~E
EVALUATED FOR USE IN THE STATE OF TEXAS & i o
The Glazed Fiberglass Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & R613 and the 2006 2
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404 g
{including Texas revisions) subject to the following condifions:

1. Anchors shall be os listed and spaced as shown in the details. Anchor
embedment to base material shalt be beyond walt dressing or stucco.

2. When used in areas requiring wind-bome debris protection this product is | -
reguired to be protected with an impact resistant covering that complies CZD
with Secfion R301.2,1.2 of the IRC and Section 1609.1.2 of the 1BC. )

3. Allowable design pressure requirements must be equal to or less than the E:
design pressure rating shown in the design pressure chart, sheet 1 of this o
drawing.

4, Conditions not covered by this drawing are subject to further engineering
analysis.

=
TABLE OF CONTENTS <Dt
SHEET# DESCRIPTION -
] Typical elevations, design pressures & general nofes %
2 Doc:)r panel details {1:|p lite insert glazing} INSWING +50.0 -550 DATE: 1 /O 7 /1 4
3 Horizontat cross sections X SCALE:  N.T.S.
4 Vertical cross sections
5 Frame anchoring OUTSWING +60.0 -60.0 owe. o JK
CHK. BY: LFS
DRAWING NO.:
TX—4423
SHEET _1 ofF 5

R:MA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4423-24.dwg, TX-4423

© 20714 R.W. BUILDING CONSULTANTS INE.



i
xR
|t ], 75" tme] %- ¥ @
- EXTERIOR 402 175 2 g &3
' TOPRAL _| du g8 &7
(COMP] wt =g G
: o
—— | | LIRTERD
7 5 5359 ok
i FIBERGLASS SKIN | T g @é
Y " (075" MIN.} 2 oR" 23
=~ e ] ‘ \ o & 3 n.la:l
e . 9xf .
: % a e O
=40 O
INTERIOR LATCH STILE !oRdE ¥
HINGE STILE (LVL) 8 § .y
(WOOD) P éﬁ
5 (3]
@ HORIZONTAL CROSS SECTION 2
2
)
G 25
SN
=L
53
< Dy
36" MAX. g |y
PANEL WIDTH S |5 £2
4j o
g xit
24.0" MAX , 3 2 S5
D.L.O. WIDTH o 3 gl Sa
Q = St
Q o
E 2 ) & &
EXTERIOR INTERIOR
>
m
9/16" GLASS
BITE
o EXTERIOR 11/16" THK. GLASS
O — = v
o = 7= 5
a6 =0 X 1 1/8" TEMPERED 5
38 2% ¢ 2 " Glass 2
g g9 S AR SPACE FONMCORE —__ | 2|
h< = ~_ (POLYURETHANE - ™
I 1/8" TEMPERED 1.9 PCF MIN.)
GLASS
ALUMINUM SPACER
INTERIOR UMINUMSPAC
QSO SEALANT w
3 5
[}
GLAZING DETAIL BOTIOM RAIL :
b (:}m (COMP.) 1 o
DATE: 1/07/14
THERMA TRU - Fush Glozed 2 B L seae:  N.T.S
Door/Sidelite Panel OWG. BY- — K
{fibergloss) G. BY: J
2\ VERTICAL CROSS SECTION ok By, LFS
2 DRAWING NO.:
TX~4423
SHEET _2 OF 5

R\ - Projects\Project Folders\Proj 1601 - 17000\PF 1675\D. RWBC Drawings\TX-4423-24.dwg, 2.7

© 2014 R.W. BUILBING CONSULTANTS [NG.



[F1]
2y
33 2 o
: 2 g o8l
Ay g8 &Y
b 1::_ o = d E u.l:;
| ﬁé TERT
4 3 5 § e BE
M
/ // 2on Eg
! a oM -
’ & ody KD
o o 52 W
o % 8 e O4
g 5 ad B8
5 Dain ég
£ § I
[=
X e DEADBOLT: KWIKSET SIGNATURE SERIES g @§ ;%E
(- ol (980/985) g
[ LATCH: KWIKSET SIGNATURE SERIES z
991
y (991)
Y
! "
/ g %
=
=X = [ &)
| = |y 38
= O &y
CORNER PADS (TYP.) B R4
/ g &
g 0.15" N 0.15" 1/4° MAX 5 x ”
EXT HEATH!NGSHIM SACE ~— CSINK (2N (3NN C'SINK —m- SHIM SPACE & 5
S TYP) 4/ 4 A4/ ve) T Y EXT. SHEATHING 2 g
>
[an]
Q’g’ﬂg"g e |~ #10X 2.5 PFH WOOD SCREW #10 X 2.5" PFH WOOD SCREW e ox FRAMING
. \ / (G >=0.42)
JAMB JAMB %)
5 ENDURA WEATHERSTRIP ENDURA ;’é‘;’gg}fpisgg 2
(QEBD/PE 50) %
EXTERIOR EXTERIOR Q
/§ 4&\
Lok
DRYWALL _/ / \ INTERIOR INTERIOR \; \ DRYWALL ’g
#8 X 2.5" PFH WOOD SCREW #8 X 1*PFH SMS #8 X 2-1/2" PFH WS _
O
#8 X 3/4" PFH SM$ 4 HINGE LATCH STRIKE PLATE S
oatE: 1/07/14
SCALE: N.T.S.
/ 1"\ HORIZONTAL CROSS SECTION ws. 8. JFf<
\y inswing shown - Quiswing also approved cHK. BY:  LFS
DRAWING NOG.:
TX—4423

SHEET 3 oF 5

R\ - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4423-24.dwg, 3.7

© 2014 R.W. BLALDING CONSULTANTE INDO.




— 2X FRAMING an
— n . - 'N‘
] P (6>=04 . g
e Ex 3 we
’ L i o
' L #uy g8 8
EXT. SHEATHING ' /— DRYWALL e Z oy ﬁ::
f e £ ;;
\ 1 ﬁg Eé% 35
4 > Jge BE
) e #10 X 2.5" PFH 330 @E
L / @ QN 0 of
174" MAX. ‘ v  QEXZ . T
SHIMSPACE . #iLLl4 e g §%% .8
hZg § 592 gp
; Z E: & [ 36
O~ b
| P
DOOR PANEL E XK éo
HEAD 0
ENDURA WEATHERSTRIP Z
/ (QEBD/PE 650) =
/] 7
EXTERIOR W INTERIOR g |.a
5 138
1"\ VERTICAL CROSS SECTION -
\_/O!utswmg shown - inswing 2 S
also approved - =
IEY-
8 =
o <t
o [2 8

INTERIOR 1 0m pANEL EXTERIOR EXTERIOR i~ INTERIOR EXTERIOR 73 N INTERIOR .
ENDURA WEATHERSTRIP ‘_\\\\ \’\
(QEBD/PE 650} DOOR PANEL DOOR PANEL
ENDURA THRESHOLD ENDURA DOOR SWEEP \ ENDURA DOOR SWEEP \
{DBK-R) §§§§ (DBK-AC)

\\\2

%SBEEEE gﬁTS\:‘ViNG} ENDURA THRESHOLD ENDURA THRESHOLD ) ;
2084565{I§N0wn) {Z-SERIES INSWING ADJUSTABLE} ! {Z-SERIES INSWING ARTICULATING) —«;.—.}—r-—'!—
{w/ decorative nosing) / LAI4S6SFN {shown) .)'T . LACASSSFEN (shown) r",’im"/)
? =. ) | ZAI4565FEN {w/o decorative nosing) LACA565FN (w/ decorative nosing) E:’L")A,?
1 Trf §

ﬁ’_f
.ﬁ
N

REVISIONS

N\

=1 IR
ST

\.\ AR n\\\\\\
A
i
iy i i
NOJ DATE

#10 X 2.5" PFH WOOD SCREW #10 X 2.5" PFH WOOD SCREW #10 X 2.5" PFH WOOD SCREW bate: 1,/07/14
" " 174" X 223/4"ELCO CR 1/4" X 2-3/4"ELCO OR scaE:  N.T.S.
1/4" X 2-3/4"ELCO OR
ITW CONCRETE SCREW iTW CONCRETE SCREW [TW CONCRETE SCREW WG, BY: K
CHK. BY: LFS
{2\ VERTICAL CROSS SECTION /"3 VERTICAL CROSS SECTION (4 \ VERTICAL CROSS SECTION BRAING R0
w Outswing shown w Inswing configuration w Inswing configuration TX—4423

SHEET 4 oF 5

R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4423-24.dwg, 4.7

© 2014 R.W. BUILDING CONSULTANTS INC.



R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4423-24.dwg, 5.7

8.34' FROM
TOP OF
DOOR PANEL

2X framing {by others)

.

SEE HINGE \-. —

DETAIL 1 Eﬁ _( #10 X 2.5" PFH
5 WOOD SCREW!I . o
i (TYP. @ HEAD CE
] AND JAMBS} -
J 3 |
P - -
SEE HINGE
DETAIL 2 5 |
T % as
\is iE
0O
— - ~
| | N
HINGE JAMB
FRAME ANCHORING
OXO
FLOOR SUBSTRATE MATERIAL {TYP.}
CONCRETE {MIN. 3000 PSI)
WOOD (G >= 0.42)
CONCRETE ANCHOR NOTES:
1. Concrete anchor locations at the comers may be adjusted fo maintain the min,
edge distance to mortar joints.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo ]
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. s |
3. Concrete anchor table: - ||
#8X 1"PFHWS &e1o 11

'Tw 1 n ¥ H
TAPcON® | 174 1-3/4 2-1/2 3
ELCO L T " LL]
uLTRACON®|  1/4 1-3/4 ! 3

SEE DETAIL 3
\

1/4" X 2-3/4" ELCO OR
TW CONCRETE SCREW
(TYP @ SILL)

#8 X 3/4" PFH WS
#8 X 2-1/2™ PFH WS AE

/ #8 X 2-1/2" PFH WS

== #8 X 3/4" PFH WS
- 4" X 4" HINGE

HINGE DETAIL 1

#10 X 2.5 PFH WOOD SCREW

=
55 qﬁt

STRIKE JAMB

N

38.47" FROM

TOP
OF DOOR PANEL

DEADBOLY STRIKE

PLATE

LATCH STRIKE

PLATE

DETAIL 3
Lock sirike plates

#8 X 1" PFH WS

|e
- ®
.

.

J I |

lel o

AT/

- #8 X 2-1/2" PFH W$

= #8 X 3/4" PFH WS
- 4" X 4" HINGE

HINGE DETAIL 2

idt, P.E.

Lyndon F. Sch
TEXAS P.E. #104123
B.0. 8ox 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

NOJ DATE

REVISIONS

DaTE: 1/07/14

stale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX--4423

SHEET 5 oF 5

© 2014 R.W. BUILDING BONSULTANTS INE,



